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1 Darwin's salary is Rs X. He gets 20% O ele of 2s dvsbic by X
increment and his salary becomes Rs Y. Z & e i il

1o 125% of X and 400 greater than Y. Find
the new salary of Darwin? a. Area of o circular park is 15400km?. A car
(A) Rs 10000 (B) Rs 9000 takes 240 minute to go from A to B. Find

C) 9600 (D) 12000 the speed of the car?

s
T

(8) 35km/h (8) 40km/h
(€) 30Kkm/h (D) 20km/h
(E) Non of these

auotientis o oot e ———
4 | 5. xisa positive decimal fraction and X>1. X

£) None of these
LIl " T changed into fraction, the fraction wil

3. Xis Y multiple of Z. Cho e
of the following is not true? () proper fraction (8) imroper 1ot
(A) 1 ¥=2, 222X {C) Like fraction (D) Unlike fraction

(£ None of these

(8) 2= (w2
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[image: image2.jpg]6. X is factor of Y and Z are multiples of Y,
Which one of the following options is
incorrect?

(A) LCMofX, Yand 252
(8) HCF of X, Yand 2 5 X
(c) %457

D) 215 akio multple of X
(£ None of these

7. ABCD is a rectangular garden. Anna takes
45 minutes to go from A to B and 30
minutes from B to C. If her speed is 9 km/
hour, find the area of the garden?

A

o
(A)30375km?  (8) 30km?
(€) 27.75 km? (0) 29.5 km?

(£) None of these

8. X s what percent of ¥, If XV =2Y
(A) 100% (8) 50%
(c) 25% (0) 200%
(E] None of these

5. When A is divided by B, C is rema
and D is quotient. Choose the ¢
option? i
(A) 11C =0, A s multiple of B.

{8) BxD+C=A

{C) B-Cis theleast number that should be added
10 A to make it a multiple of &

(D) 1FA<B,D>1

{E) None of these

10. X i a 3 digits greatest number. What least
number should be added to X such that it
will become the multiple of fifth multiple
of 152
(n) 21
1€) 26
(E) Mong of these

(8)25
(o) 27

11.A man bought 30 eggs, 14 out of them
were rotten. He sells remaining eggs at Rs
1.50 each, and suffers 4% loss. If only 6
eggs had rotten, what would have his

Page :2

profit percent?
(A) 2% (8) 25%
() aa% () s0%

(€) Nome of these

12. By what percent the diagonal of a square.
should be increased so that area of the
square will become 4 times of its original
arca?

() 25%
(€) 75%
(E) None of these

(8) 50%
(0) 100%

13. By what percent area of a circle should
be decreased so that diameter of the
circle will become half?

(A) 25% (8) 50%
(©) 75% (0) 100%
(€} None of these

s 20 Russian flag, 8 American flag,

h flag and some Indian flag. One
flag s suddenly to be taken out of the box.
If prabability of American flag to be taken
outis 2/21, find the number of Indian flag

A shopkeeper bought 580 kg of fruits. 28
kg of fruits were rotten. He sold first 250
kg of fruits at the rate of Rs 80/kg and
then reduced the price by 37.5%. He made
overall 17% profit. Find the cost price of
fruits?

(A) Rs51.72

(8) RsSO

(€) Rs55.20

(D) Rs 56.30

(E) None of these

16. A sum becomes 16 times in 1 year when
interest is compounded quarterly. If the

rate of interest is ¢ % for 1 year, find the
value of r2
(A) 100% (8) 200%
(c) 300% (0) a00%
(€) None of these
REF/iOM10/BHN




[image: image3.jpg]A mumber 184 is divided into two parts
<uch that one third of one part may
*xcecd one seventh of the other part by
5 The two parts of the number are?
(Aasand138 () 32and152

(C) 64and 120 D) 72and 112

(E) None of these

(8) Closest deciml fraction of 2 whole number
can not be found

(€) Closest natural number of @ proper fraction
is1

(0) f 21 denominator of a fraction, 10 Cosest
\hote number of thefraction aré at unequa!
Wistance from the fraction on the aumbet
line:

{€f None of these

One face of a cube of 85.184cm? is folded
into a cylindrical shape. Find the volume
of the shape?
(A) 6776cm*

(€) 6676 cm*
(£} None of these

(8) 7667cm’
(0) 7776em*

e
o Twice a number when increased bY 7 gives
45, Find the number.
(A) 26 )25
(©) 26 (0) 28
(€) None of these

Tectangle of length L and
0 is the mid point of side CD.
n divided into three
AOD + arA BOC~ arA

20. ABCD is @
breadth B.
Rectangle has bee
triangles. Find, arA

A0B
(a) L8 (8) %18
(c) 28 (0} 0

(6) None of these

71, Hrow many times decimal fraction 5.2356

s greater thon 0.0523562

(A) 10 times (B) 100 times

) 1000times (D) 200mes
one of these

center O has 3 triangle AOB
A and B are at the linc
\d <A0B=90°. Find the

area of circle and

(0) 20
() tone of

74, A pipe can fill 2 tank in 16 hours. Due 1
Jeakoge its filled by the pipe in 24 houts.
1f tank s full, how much time wil it take
to empty by the leak?
{A) 36 hours (B) 42 hours
(C) 45 hours (D) a8 hours
(€] None of these
251 ABCE is a square and CDE is cquilateral
wriangle then angle ADB will be:

o

c
| \‘
/ \

A—
) 15° (®) 20"
(© (©) 30"

(€) None of these

26.1n the given figure BC=39 e,
EF||BC & XY |EF

(8) 9.80cm
(D) 9.85am

(A) 9.75¢m
() 9.65cm
(€) None of these

2. My logthen the value of { 7

x

is:

33, Which one of the followin
{A) Closest whole number of thef fra
. :
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(8) %6
(0) 48

() 4
(©) 47
(£} None of these




[image: image4.jpg]28.205 pages of a book are yellow coloured,

If yellow coloured pages comprise ; of

25. A cyclist goes all

500 revolutions

radius of the whecl is 0,7m, find the radius
of the playing ground?

(A) 245m
(€) 260m
() None of these

30. Cedy's school is 8 km from his house, He
leaves his house at 10:00am and he has to
reach his school at 10:30, First 10 minutes
he walks with the speed 12km/hour but
he finds he would get late with this spoed
therefore, he increascs his speed and
reaches school in time . By how much

does Cody increa:
(2) & km/hour
(€) 8 kmy/hour
(E} None of these

to be a math?

© 5
(E) None of these

numeral 56978 so
of 5.69787

(A) Right to the &
(€) Right to the 9

(€) None of these

collected 72 books of three
subject Math, Science and English. The
ratio of the books are 5:3:4 ly.
Amelia draws one book suddenly from her
collection. Find the probability of book

around a circular playing
ground. He finds, wheel of the cycle tooy

to cover the distance. If

(8) 250m
(D) 300m

se his speed?
(8) 6 km/hour
(D) 10 km/hour

o) L
® 2

3
) 2

imal be placed in the
thatit becomes 10000%

(8) Lefttothe s
(D) teft tothe s

34. Cody spent 60% of his monthly incor
and remaining deposited in  bank. o)
8ives 25 interest/month on the depos]
money. If Cody had deposited 60% of
income, he would have got interest R
more in a month. Find the monthly

income of Cody?
(A) Rs125000 (8) Rs 150000
(€) Rs200000 (D) Ris 250000

(E) None of these

351X is cube of Y and Z is cube of ¥ then!

which one of the following is not true?

(A} LM of X, Y, and 215 7

(8) 2159 timés of

(€)1 X is a negative integer , then ¥ and 2 are
also negative integ

(0) IFany of them is positive integer then ather
WO must be positive integers

(€) Nore of these

36. The height of the students is given as 14,
152, 154, 155, 162, 175, 178, 192, 184, 185.
Find the mean height.

(A) 1689 (B) 173

(€) 152 (D) 156

(€) None of these

37. Which one of the following s not true?
(A) f radius of a circle Is doubled, it perimeter
also becomes double

(B) If radius of a circle is doubled ts area
becomes four times.

(€) If sides of 2 square is doubled its area
becomes 4 times

(D) If peimeter of a circle is doubled its area
also becomes double

(E) None of these

38.simplity x 7

P

(A} xn (8) yeital

(€) xm (D) gnen
(E) None of these

39. Find the square root of 51.9841
(A) 621 (8) 7.25

() 721 (0) 408

(E) None of these

33. What least number should be added to
215™ multiple of 5 so that it becomes

multiple of 117
(A) 1

©3

(E) None of these

(8) 2

40.Find the value of a such that value of

¥* %y becomes 1:
()1 (®) -1
©o )2

(0} 4

(€] None of these
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